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QUESTION 1

In ONTAP 9.6, activity on the command line is found in which log?

A. audit.log

B. messages.log

C. command-history.log

D. mgwd.log

Correct Answer: A Section: (none)

Reference: https://kb.netapp.com/Advice_and_Troubleshooting/Data_Storage_Software/ONTAP_QOS/

Overview_of ONTAP_Logs

QUESTION 2

You are using AFF storage with the NVMe storage protocol on your Linux clients.

In this scenario, which NVMe feature must be present and enabled for the client to see storage failover happen?
A. Asymmetric Namespace Access (ANA)

B. Multi-Path 1/0 (MPIO)

C. Asymmetric Logical Unit Access (ALUA)

D. NVMe Qualified Name (NQN)

Correct Answer: B Section: (none)

QUESTION 3

A customer asks what is the correct way to configure an ONTAP system for multi-tenancy. The customer wants to serve
data and also protect data using SnapMirror from tenant A using network A and from tenant B using network B.

In this scenario, which statement is correct?

A. The customer must use different VLANS for the two tenants.

B. This setup can only work if tenant A and tenant B use a shared network infrastructure.

C. The customer must set up two different IPspaces for the two tenants.

D. Each node can only communicate with tenant A or tenant B, but not with both at the same time.

Correct Answer: B Section: (none)
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QUESTION 4

For testing purposes, your customer decides to use FC on a single-node ONTAP cluster. There is only one host that the
customer expects to use. High availability is not a concern for this test. The customer connects the host directly to the
ONTAP node. The LUN is set up, and the igroup is configured. When the customer tries to attach to the LUN from the
host, the LUN is not seen by the host.

Which statement is correct in this scenario?

A. Multipathing must be used and connected to another FC path.

B. NPV must be enabled on the host before trying to attach to the LUN.

C. NPIV must be enabled on the host before trying to attach to the LUN.

D. An FC switch must be used with ONTAP.

Correct Answer: B Section: (none)

QUESTION 5

A user can read and write some files on an NFS volume, but the user is unable to read all of the files in the volume.
In this scenario, which command will help you troubleshoot this problem?

A. security login create

B. security audit show

C. vserver security trace filter create

D. vserver export-policy check-access

Correct Answer: C Section: (none)
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